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Q1. Choose the correct answer.

1. The work done is maximum when the angle between the force F and
the displacement d is:

90° (D) 60° (C)
2. Ajoule can also be written as:
kgm?s2 (D) kgm?s3 (C)
3. The Sl unit of power is:
Second 4+ (D) Watt 215 (C)

4. The power of a water pump is 2 kW. The amount of water it can raise
in one minute to a height of 5 metres is:

2400 litres #2400 (D) 2000 litres #2000 (C)

5. Abullet of mass 0.05 kg has a speed of 300 m s™'. Its kinetic energy
will be:

1125J (D) 1500 J (C)
6. If a car doubles its speed, its kinetic energy will be:
+3tgnu@tg (D) Lag,bnb@f (C)

Increased to four times Increased to three times

7. The energy possessed by a body by virtue of its position is:

Chemical energy &./1£< (C)

8. The magnitude of momentum of an object is doubled, the kinetic
energy of the object will:

Solar energy §./1./» (D)

S boan 57 (C)

Reduce to one-half

Remain the same (2 s/5G1 (D)

9. Which of the following is not renewable energy source?

Solar energy §./1./» (D) Wind energy .41 (C)

10. The Sl unit of work is:

Both Aand B null (D) Pascal null (C)

Q2. Write short answers of the following questions.
I . What is the work done on an object that remains at rest when a force
is applied on it?

Il . Aslow-moving car may have more kinetic energy than a fast-moving
motorcycle, How is this possible?
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IIl . Aforce F does 5 J of work in 10 s. Another force F, does 3 J work J}3u1,f:¢¢F25J/}d/»u{|-§_3/bﬁ;dﬁ5ui)¢:¢|:110J/}..{l Al

in 5 s. Which force delivers greater power? gLJbJHL”UJJ}UJ/_QL}/J,
IV . Awoman runs up a flight of stairs. The gain in her gravitational J‘lau?/'!ﬁdgfdz4500uuuuw-?Wzéffu?(ééﬁd/» .V
potential energy is 4500 J. If she runs up the same stairs with twice &j,dﬁ{’,f”;&bf“én&”ckyﬂcg, f/uw”/ﬁ_a&’/
the speed, what will be her gain in potential energy? : ’ ’ o ?J;L/J"’La
V . Define work and its S| unit. -g/.;u}J&gSlimeu .V
VI . What is the potential energy of a body of mass m when it is raised ?Jn‘f(&)uJﬁ"i"?JJl?%blgMjhd,cl.f)’.{leJLﬁ VI
through a height h?

VIl . Find an expression for the kinetic energy of a moving body. _z“_L;,u,»,L;KJ_/r}V&jI_,@'JKJﬁJ}’V{i . VI
VIII . Define efficiency of a working system. why a system cannot have uj’uyfw‘IOOJ‘”»;&@(VV{I??;!/l‘fLu}&M({/%wJ. Vill
100% efficiency? oG
IX . What is power? Define the unit used for it. _u“/..;uﬁd/&gSILm?%,u/gc,ug )
X . Differentiate between renewable and non-renewable energy fe I uﬁé!/;'(}./'i,gj SO Eiass S6 X

sources.

Q3. Write detailed answers of the following questions. 5X2=10 J/ P MZLT Ly S5 o0i0 3 Y
1. Explain what is meant by efficiency of a machine. How is it u[&"f(}jlJd:&/‘f/&’Lallﬁlgy/()’”djgi?La;!/y/cu’pdf!v@:&”u/.1
calculated? Why there is a limit for the efficiency of a machine? vgémm
2. Calculate the work done in (i) Pushing a 5 kg box up a frictionless J4,1jﬁ104.1%wfug K(!/@{S(Jl):flq/p“fﬂﬁd/u@ 2
inclined plane 10 m long that makes an angle of 30° with the u(.«)“bf/‘j?(._,)-nKBOOJVL%JAUK..J’MaL“lpU;g:J/’
horizontal. (i) Lifting the box vertically up from the ground to the top of ' ' L L s

the inclined plane.



